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Fc=27MPa, SD295,SD390( )
2F Bx<D 200> 200 Bx<D 200> 200
12-D13(pg=3.8%) (1F) 12-D13(pg=3.8%)
2-D6@50(pw=0.64%) 2-D6@60(pw=0.53%)
none 2-D6@120(pw=0.27%)
3F Bx<D 200> 200 Bx<D 150> 200
4-D10(pt=0.54%) (1F) 4-D10(pt=0.54%)
300 2-D6@100(pw=0.42%) 2-D6@100(pw=0.42%)
80 80
2F ) 7-D66100ps=08% | P D6@100(ps=0.4%)
H15 H16
C)_B C)_B
() [ (N/mm?) () [ (N/mm?)
1 39 26.0 1 53 27.6
AST— 34 27.9 ASRI—5 47 29.3
1 46 27.4 1 61 26.7
BS T 41 30.2 BSR— 55 28.9
%) | (kN/mm*)| (N/mm?) (%)
D6(SD295A) 371 199 495 12.9
D10(SD295A) 378 199 473 28.0
D13(SD390) 485 192 615 18.5
H15 H16
. AS BS ASR BSR
(rad (mm) () () () ()
1/1600 1.25 1 1 1 1
1/800 2.5 1 1 1 1
1/400 5 2 2 2 2
1/200 10 2 2 6 6
1/133 15 2 2 6 6
1/100 20 2 2 6 6
1/67 30 2 2 2 6
1/50 40 1 2 1 2
1/33 60 1 1 1 1
1/20 100
kN
\ Ru=1/200)
ASR | 608.2 686.1 346.2 514.1 605.0 648.8
AS | 607.8 686.1 339.2 502.9 590.6 629.9
BSR| 476.1 537.2 342.3 474.0 553.5 585.9
BS | 476.2 537.2 345.3 478.4 559.2 592.6

82




()

1) H15
AS BS RC
H15
AS BS
AS BS 681kN(R=1/133rad. ) 545kN(R=1/67rad.
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a)
6
2 15
ASR R=1/200rad. R=1/133rad.
R=1/100rad.
R=1/67rad. 1 AS
BSR  R=1/133rad. R=1/100rad. 1
R=1/67rad. 1
BS
R=1/133rad. R=1/100rad. 2
R=1/67rad.
6
( ASR
R=1/100rad. BSR R=1/67rad.)
H15 (o) D
)
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